ECN 4890
Spring 2006
Homework 9 answers
Assume that there are only two periods of work life remaining.  You can work at a high level of effort (producing $50,000 of output per period) or a low level of effort (producing $40,000 of output per period).  You can also obtain a different job that pays $40,000 for a low level of effort (assume that that amount is guaranteed and that a high level of effort will get you nothing more at that firm).

You view that “cost” of going from low effort to high effort at $8,000. In other words, earning $18,000 at a high-effort job makes you equally happy as earning $10,000 at a low-effort job.

a.)
What is the efficient effort level in each period?  Would your answer change if high effort produces only $45,000 of output per period?  Explain.

The efficient level is a high level of output in each period because $50,000-$8,000 = $42,000 > $40,000.  The answer would change to low output if high effort only produces $45,000 of output because $45,000-$8,000 = $37,000 < $40,000.
b.)
Suppose that the firm offers to pay you $50,000 in the first period and $40,000 in period 2.  The firm also says that it will fire any individual at the end of period one whose effort level turned out to be low.  What level of effort will you perform in period 1?  Explain.

I would work at a low level of effort in period one.  Once fired, I can earn the same amount in the second period at the alternative job.  Therefore, I can spare myself the cost of high effort.
c.)
Suppose that the firm offers to pay you $10,000 in the first period and $80,000 in period 2.  Again, anyone who is found to be producing at a low level of effort will be fired at the end of period 1.  What level of effort will you provide during periods 1 and 2?  Explain.
I would work at a high level of output during period one.  I don’t want to run the risk of getting fired, because my compensation is greater in the second period (even accounting for the cost of high effort in the first period).  I would work at low effort the second period (no incentive to work hard since it is the last period).
d.)
Suppose that you are suddenly worth $75,000 to another firm in period 2 and that firm offers you a salary of $70,000.  Does that change your answer to (c)?  From an efficiency standpoint, should it?  Explain.  Any suggestion on how this may be corrected?

I still wouldn’t leave, but it is more efficient if I do (a higher use of my time).

The first firm could buy me out or reduce my second period wage.
